Worksheet 11

1. Which of the following is a solution of
the equation 3x”> +5x—-2=107?

A. -2
B, o

3
C. 2
D.

2. Which of the following is a solution of
the equation x(5x—7)=-27?

A. -1
B -2
5

c. =

5

D. 2

3. Find the sum of the roots of the
equation 4x> —x—-5=0 ?

A 2
4
B. -1
c. L
4
D. >
4

23

4. Find the sum of the roots of the
equation 4x> +11x-20=0 ?

A.
B.

5
4

2=

Al

5. Which of the following is a solution of
the equation x° —10x = —24 ?

S 0w

6
4
4

12

6.  Which of the following is a solution of
the equation x* —6x = x(8 + x)?

S 0w

-14
-1
0
14

7. Find the sum of the roots of the
equation. x” +11x = —24

S 0w

-11
-8
11
88
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10.

Find the sum of the roots of the
equation. x(5x+2)=3

5
‘1

c. -3

5

p. -2

5

Simplify and express the answer in
scientific notation.

(6x107)-(9x10)
(12x10° )= (9x10" )

1.8 x10°

A
B. 1.8x10°
C. 1.8xl10"
D

5.0x107

Find the difference.
(sz —2)—( x? +2x—3)

A. 2xr = 2x+1
B. 2xr +2x -1
C. 4x* —2x+1
D. 4x* +2x -5
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